Chemistry Note Guide
Subatomic Particles					    Name ________________________________

The idea that atoms are indivisible was challenged by several areas of study:
1) _____________________________________________________________
Had been known about since ancient times
Two types: __________________________  and  ___________________________
______________________________________________________________  states that:
Like charges repel; opposite charges attract
2) __________________________________
Defined as: _________________________________________________________________
___________________________________________________________________________
Discovered by _________________________________ in 1896
Studied extensively by ___________________________________, who worked in his labs
Types of radioactivity: 
	_________________  =  __________________________________________________
	_________________  =  __________________________________________________
	_________________  =  __________________________________________________

3) _____________________________________
Produced in _________________________________________________________________
which is a partially ___________________________________________________________
with an ________________________________(piece of metal) sealed in each end.
Negative charged electrode = _______________________________________
Positive charged electrode = _______________________________________
When voltage is applied, ________________________________________ are produced.
They bend toward a _______________________________________________________.
CRT’s are forerunners of:  ___________________________, _____________________________
     and _____________________________________________________________
So why did scientists question the idea that atoms were the smallest particle of matter that existed??
Because they had evidence that:
1. __________________________________________________________________________
__________________________________________________________________________
2.  _________________________________________________________________________
__________________________________________________________________________


J.J Thomson
Determined that: ____________________________________________________________
__________________________________________________________________________
Determined the ____________________________________________________________
   1.76 x 108 C/g  (coulomb/gram)
Used 20 different metals and got the _______________________________________
Concluded that: _____________________________________________________________
__________________________________________________________________________
Proposed the _______________________________________________model of the atom
	Says that the atom is a ___________________________________________________
	with embedded ________________________________________________________
Robert Millikan
Did the ___________________________________________________________________
Determined the ____________________________________________________________
atomizer used to create small droplets
X-rays used to place a negative charge on droplets
the drops fall due to gravity
charges are adjusted on plates above and below (+ and -) to suspend a droplet
bigger droplets take more charge to suspend
the various charges needed to suspend different droplets are in whole # ratios
                     Explanation:  the particles have some whole number of negative particles (electrons) attached
              Calculated charge of an electron: 1.60 x 10-19 C	       Also its mass = 9.10 x 10-28 g
      E. Goldstein
      Used a CRT with _________________________________________________________________
     Found a different type of beam – called ______________________________________________
	which are __________________________________________________________________
  	and are now referred to as ____________________________________
    Ernest Rutherford
    Did the ___________________________________________________________________________
shot _________________________ at a thin sheet of _________________________________
most particles ________________________________________________________, however:
roughly  ___________________________________ (some even directly back at source)
Conclusion:  The atom is _________________________________________________________ with a very ___________________________________________________________________ containing most of the atom’s ______________________
[bookmark: _GoBack]This region is called the ___________________________________
